

[bookmark: _GoBack]Subnetting exercise. Complete the values in the above table, like in the example from the first row.
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IP Address Class

No of 

borrowed 

bits

Last non-zero 

octet

Magic 

number

The address of 

the second subnet 

(the first subnet 

is subnet 0)

The broadcast of 

the second subnet

192.168.15.0/26  C 2 192 256-192=64192.168.15.64 192.168.15.127

220.75.32.0/30 

200.39.79.0/29 

195.50.120.0/27 

202.139.67.0/28 

132.59.0.0/19

64.0.0.0/16

Special cases:  
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		IP Address		Class		No of borrowed bits		Last non-zero octet		Magic number		The address of the second subnet (the first subnet is subnet 0)		The broadcast of the second subnet

		192.168.15.0/26		C		2		192		256-192=64		192.168.15.64		192.168.15.127
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